EXEIV[PLE:40%de$SS=x Nom : (‘Drv'; QQF(
40 x 55 = x
100
40 x 55 = X
100 1 i "
N’oubliez pas :
40 x S5 = x
100 x 1 1 de = multipliez (X)
2200 = x
100 1
x = 22
40% de §55 =322

Trouvez la valeur de ’inconnu.

1.50%de30=x S 2.70%{1&5{!:&.35

3.210% dey=3150 (500 4.50,5% de§0=c YO,Y

5.x% de 60 =45 1S % 6.m=75%de6d /8§
7.80=60%det | 333  8.n%de24=18 157 |
9.z=3%de6d |.% 10.25 =x% de 125 2?0‘% 1
11.w=112%de164 1%3,0¥ 12. n% de 12,8 =11,2 ?‘3"'5"7@
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13.p=20%de75 /S 14.12,8% de36=a Y Goy



EXEMPLE: n% deS75=36
mn x 75 = 36
100 -
o x 75 = 36
100 1 1
n x 75 —] _16‘
100 x 1 1
I5n = 36
100 1
n = 48

48% de 875 =36

Nom:_Cocciaéc
J

N’oubliez pas :

de = multipliez (X)

Trouvez la valeur de ’inconnu.

1.50% de30=x %
2.35%de80=n 2%

5.0%de70=14 207, .

7Y% de80=x €% 207
9.240% de 3500=x RNO0O0
11.x=45% de96 3. &

13. 16 =x% de 104

15.x% de30=20 b ©. W%

IS,387%

2.30% de 79=x 21
4.155dex% =775 2%

6.0=23%dess '8 Y

8.10,5=x%de210 S /o

10. x% de 64 =10 15, b2$ 2
12.33% de80=x =Y

4.5%ded6=276 ©00 To

16.9=30%dex 30O




